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Brief Solutions to the Spring 2005 Math 112 Final Exam

(a) Diverges by the integral test, wiftix) =

1

xIn(x) "

(b) Diverges by the test for divergencne:ool'mn;é 0.

. The ratio test giveR = 7. At x = —7, we have the harmonic series, which is divergentx At7, we
have the alternating harmonic series, which is convergent. Thus the interval of convergent&’js
(ie. —7<x<7).

@ o

0 —

© :

(

(c

(
(

2
.W:/_2n980q4—y2)(2—y)dy

n
4

b)

)

N
2

d)

e)i

8v/2

tard(x)

1
—arct
(@ 3arc an<

8In(2)

3

3

16

(@ y=x-1

7

9

+C

82+2— —In

2
“) +C

3

V2

32 |22

(b) V2 (e% . 1)

MO NI

1

4

(x—2)+

1

8

(x—2)2+...

3 2
3x+gln|x—1]+gln|x+4|+c

1
[xx/l+4x2 —5hn ‘2x+ \/1+4x2” +C or

8x2 +2+x

+C or.. (There are numerous equivalent forms.)




